Q.1

Ans

] r b1 T $ 4 ] ¥ L] T
Two spheres ‘S;" and 'S, have radii ‘R and ‘3R, temperature 'T" K and % K
respectively, Ifthey are coated with a material of same emissivity, rate of radiation

of ‘S, " is E then rate of radiation of 'S, " is (spheres are of the same material)

> —

Question Type :
Question ID :
Option 11D
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115964
37135163855
37135163856
37135163854
37135163853
Answered
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Q.2

Ans

In the experiment to determine the internal resistance of a cell (Ei) using
potentiometer, the resistance drawn from the resistance box is ‘R’. The potential
difference across the balancing length of the wire is equal to the terminal potential

difference (V) of the cell. The value of internal resistance (1) of the cell is

Question Type :
Question 1D
Option 11D :
Option 21D
Option 31D :
Option 4 1D

Status :

Chosen Option :

MCQ

: 37135115989

37135163953

- 37135163954

37135163955

- 37135163956

Answered
4
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3 . : ; ; :
Q Seven capacitors cach of capacitance 2 [UF are to be connected to obtain equivalent

capacitance of (ﬁ) LLE. Which of the following combination is possible?

Ans (1.
3 in parallel and 4 in series
X 2
2 in parallel and 5 in series
5 in parallel and 2 in series
K 4

4 in parallel and 3 in series

Question Type :
Question 1D :
Option 11D
Option 21D -
Option 31D -
Option 41D :

Status :

Chosen Option :

MCQ
37135115969
37135163875
37135163876
37135163873
37135163874
Answered

3
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Q.4

Ans

A solid sphere of mass ‘M’ and radius ‘R’ is rotating about its diameter. A disc of
same mass and radius is also rotating about an axis passing through its centre and
perpendicular to the plane but angular speed is twice that of the sphere. The ratio

of kinetic energy of disc to that of sphere is

o 5l

X
@)
=

x« 3:1

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115966
37135163863
37135163864
37135163862
37135163861
Answered
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Q.5

Ans

The figure shows two diagrams in which diode and resistance are connected. Out

of the following statements which one is TRUE?

4V 4.!:1'% v
Magram (a)
oV R 2V
Diagram (b
Diode in
M 1,
diagram (a) and diagram (b) both are forward biased.
N 2
diagram (a) forward biased and diagram (b) reverse biased.
X 3.

diagram (a) and diagram (b) both are reverse biased.

W 4
diagram (a) reverse biased and diagram (b) forward biased.

Question Type

- MCQ
Question 1D :
Option 11D :
Option 21D -
Option 31D :
Option 4 10 :

Status :

Chosen Option :

37135115971
37135163881
37135163883
37135163882
37135163884
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Q.6

Ans

Two progressive waves

i t X . t X : :
Y =sinZnm (— = Z) and Y, = sin 2w (a o E) superpose to form a standing
wave. X, Y, and Y, are in ST system. Amplitude of the particle at x = 0-5 m is

I
[:;in45° = C0545° = —
V2

x1 242 m

Xz 2 m

Question Type :
Question 1D ;
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115995
37135163979
37135163977
37135163978
37135163980
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Q.7

Ans

Earth revolves round the sun in a circular orbit of radius ‘R'. The angular

momentum of the revolving earth is directly proportional to
X RZ
X 2 R

Question Type :
Question 1D ;
Option 11D :
Option 210 :
Option 310 :
Option 4 1D :

- Answered

Status

Chosen Option :

MCQ

37135115984
37135163935
37135163936
37135163933
37135163934
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Q.8

Ans

: _ s _ , ISR
Let the two torces have equal magnitude "A’. If the magnitude of the resultant is e

then the angle between those two forces is

F(+

x+ COS

ol IEN

v: COS

(
A

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D -

Status :
Chosen Option :

MCQ
37135115957
37135163827
37135163828
37135163826
37135163825
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Q.9

Ans

A graph of magnetic flux ¢} versus current (1) is shown for four inductors A, B,

C, D. Smaller value of selt inductance is tor inductor

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115961
37135163841
37135163843
37135163842
37135163844
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Q.10

Ans

Q.11

Ans

Which one of the following statements is 'NOT’ the property of light?
x 1.

Light involves transportation of energy.
X 2

Light can travel through vacuum.
7 3

Light requires material medium for propagation.
X 4

Light has finite speed.

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

Relative permeability of an iron is 5500, then its magnetic susceptibility will be

K1

5500x 107
x> 5500x10°
v 5499

5501

X 4

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 410 :

Status :

Chosen Option :

MCQ
37135115996
37135163982
37135163983
37135163984
37135163981
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37135163911
37135163912
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Q.12

Ans

A capacitor is charged by a battery and energy stored is ‘UL Now the battery is
removed and the distance between plates is increased to four times, The encrgy

stored becomoes

' 4 U,

x: U,
30

K+ 2 U.

Question Type :
Question ID :
Option 110 :
Option 210 :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115954
37135163813
37135163816
37135163814
37135163815
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Q.13

Ans

The excess pressure inside a spherical drop of water is three times that of another

drop of water. The ratio of their surtace area is
X311
Xz 6:1
v 1:9

"5 1:3

Question Type
Question 1D :
Option 11D
Option 2 1D
Option 31D
Option 4 10

Status:

Chosen Option :

- MCQ

37135115958

- 37135163830
137135163832
: 37135163831
137135163829
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Q.14

Ans

Two concentric circular coils having radii ¥y and r,, (1, << ry) are placed co-
axially with centres coinciding, The mutual induction of the arrangement is

(Both coils have single turn) (1, = permeabhility of free space)

2

1193
—_— L

HoTII'y

21“1

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 41D :

Status

Chosen Option :

MCQ

37135115983
37135163930
37135163932
37135163929
37135163931

- Answered
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Q.15

Ans

If the potential difference used to accelerate electrons is doubled, by what factor

does the de-Broglie wavelength associated with the electrons change?

K

1
Wavelength is decreased to - times.

N 2

1
Wavelength is increased to ” times.

X 3.
- L .
Wavelength is increased to = times.

o

1
Wavelength is decreased to —= times.

V2

Chosen Option :

Question Type :

Question ID :
- 37135163803
: 37135163804
- 37135163801
Option 410 :

Option 11D
Option 21D
Option 3 1D

Status

MCQ
37135113951

37135163802
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Q.16

Ans

For a particle performing 5.H.M, the displacement-time graph is as shown.

-
i

For that particle the force-time graph is correctly shown in graph

(A) (B) (C)

x2 (C)
0

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 10 :

Status :

Chosen Option :

MCQ
37135115973
37135163890
37135163891
37135163889
37135163892
Answered
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Q.17 - . o _—
The digital signals are used for transmission in communication system. They are

Ans o
only of discrete stepwise values.

r B
sound and picture signals in television.

X 3.
continuous variations of current or voltage.

X 4
fundamental sine waves.

Question Type : MCQ
Question 1D : 37135115994
Option 11D : 37135163974
Option 2 1D : 37135163975
Option 31D : 37135163973
Option 4 1D : 37135163976

Status : Answered

Chosen Option - 2

L]
collegedunlaa
° =] India’s largest Student Review Platform

el



Q.18

Ans

In biprism experiment, a source of monochromatic light is used for a certain
distance between slit and eyvepiece. When the distance between two virtual
sources is changed trom dy to dg, then the tringe width is changed trom Z to

Zg. The ratio Z to Zg is

¥ . N2
P G F IC__)
B

9

X
D-lCL
w |>
L

«
r‘m‘r‘»
> |0
L TR

£

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115963
37135163850
37135163849
37135163851
37135163852
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Q.19

Ans

A parallel beam of monochromatic light of wavelength 5 x 1077 m is incident
normally on a single narrow slit of width 107% mm. At what angle of diffraction,

the first minima is obhserved?

Question Type : MCQ
Question 1D : 37135115985
Option 11D : 37135163938
Option 210 : 37135163940
Option 31D : 37135163939
Option 4 1D : 37135163937
Status : Answered
Chosen Option : 4
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Q.20

Ans

Two identical thin bar magnets are placed mutually at right angles such that the
north pole of one touches the south pole ot the other, The length ot cach bar
magnet is ‘£". The magnitude of resultant magnetic moment of the system is

[m = pole strength of the pole of magnet|

x 2md

v J2mé

X2 m4

 \[3me

Question Type

- MCQ
Question 1D :
Option 11D -
Option 21D
Option 31D -
Option 41D

Status :

Chosen Option :

37135115967
37135163868
37135163866
37135163865
37135163867
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Q.21

Ans

A string of mass 0-1 kg is under a tension 1-6 N. The length of the string is Im. A

transverse wave starts from one end of the string. The time taken by the wave to

reach the other end is

x 0-30 s.
Xz (-50s.

W -

0-25 s.
x« 075 s.

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status :

Chosen Option :

MCQ
37135115955
37135163818
37135163819
37135163817
37135163820
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Q.22 _ . _ : . 5 .
Water is flowing through a horizontal pipe of non-uniform cross-section. In the

region of narrowest part inside the pipe, the water will have

Ans o
maximum velocity and minimum pressure.
N 2
both the pressure and velocity maximum.

X 3.
both the pressure and velocity minimum.

X 4
maximum pressure and minimum velocity.

Question Type : MCQ
Question ID : 37135116000
Option 11D : 37135163997
Option 2 1D : 37135163999
Option 3 1D : 37135164000
Option 4 1D : 37135163998

Status : Answered

Chosen Option - 1
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Q23 4 pendulum is oscillating with frequency 'n’ on the surtace ot carth. IFitis taken to
depth > helow the surface of earth where R is radius of earth. New frequency of
- R
oscillations at depth s

Ans

~ll =

y
@l=

X+ 2n

Question Type :
Question ID :
Option 110 :
Option 210 :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115960
37135163838
37135163837
37135163840
37135163839
Answered
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Q.24

Ans

A stationary wave is formed having 4 nodes along the 120 ¢m length of the string.

The wavelength of the wave is

x. 20 cm

X2 40 cm
v 80cm

x+ 60cm

Question Type :
Question 1D :
Option 11D ;

Option 21D
Option 31D :
Option 4 1D
Status :
Chosen Option :

MCQ
37135115970
37135163880

: 37135163879

37135163877

- 37135163878
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Q.25

Ans

A block of mass ‘'m’, kept on a horizontal surtface, is moved through a distance 's’

by applying a horizontal force (F) to it. What is the work done by the normal

reaction?

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115972
37135163886
37135163885
37135163888
37135163887
Answered
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Q.26

Ans

Two small drops of liquid of same radius coalesce to form a big drop. The ratio of

the total surface energies atter and betore the change is

Question Type : MCQ
Question ID : 37135115986
Option 11D : 37135163944
Option 21D : 37135163943
Option 31D : 37135163941
Option 4 1D - 37135163942

Status : Answered

Chosen Option - 4
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Q.27

Ans

Photons of wavelength ‘A’ are incident on the cathode of a photocell. Electrons are
cmitted from the cathode surtace. The de-Broglie wavelength of the emitted
clectrons is (work function is negligible)

m = mass of electron)

(c = velocity oflight, h = Planck’s constant,

S
mec

2hA

\

—
hA

2ImcC

—
2hA
]

M
—
min

A

@'

Question Type :
Question ID :
Option 11D
Option 21D -
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115956
37135163824
37135163821
37135163823
37135163822
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Q.28

Ans

A wire carrying current ‘I’ along x axis has length ‘£’ and it is kept in a magnetic

" _wh
field B = (i + 2j — 3k)B

2 .

is

x+ /15 I¢B

V11 1¢B
< V13 1¢B
x« /19 I¥B

The magnitude of magnetic force acting on the wire

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D -

Status :

Chosen Option :

MCQ
37135115982
37135163927
37135163925
37135163926
37135163928
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Q.29

Ans

When the work function of a metal increases, maximum kinetic energy of emitted

photoelectrons

M1
first decreases and then increases.

X2 ]lncreases.
X3  remains same.

' decreases.

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115976
37135163904
37135163901
37135163902
37135163903
Answered

2

W collegedunia:

el

India’s largest Student Review Platform



Q.30

Ans

A cyclotron’s oscillator frequency s 'n” and radius of the dees is t°. The operating

magnetic field (B) tor accelerating protons of charge ‘g’ and Kinetic energy of

protons produced by the aceelerator is respectively ('m” and 'v' be the mass and

velocity of proton)

2mtnm qvBr
q = 2

mnm qvBr
q T2

2TTnm

X3 F

4

qvBr

4Ttnm qvBr

q = 2

X 4

MCQ
37135115974
37135163893
37135163895
37135163896

Option 4 1D : 37135163894

Status : Answered

Chosen Option - 3
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Option 210 :
Option 31D :

collegedunia:

India’s largest Student Review Platform



Q.31

Ans

The period of revolution of a satellite is

4

independent of mass of a satellite.
X 2.

independent of radius of planet.

K 3

dependent on the mass of a satellite.

P
independent of height of the satellite from the planet.

Question Type : MCQ
Question 1D : 37135115999
Option 11D : 37135163994
Option 2 1D : 37135163996
Option 31D : 37135163993
Option 4 1D : 37135163995

Status : Answered

Chosen Option : 1
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Q.32

Ans

The errors in the measurement of mass and length of the cube is 1-5% and 2-5%

respectivelv. The percentage errorin the measurement of density of a cube is

X 3%
x: 1-5%
xs 6%
v+ 904

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D :
Option 41D -

Status :

Chosen Option :

MCQ
37135115952
37135163806
37135163805
37135163807
37135163808
Answered
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Q.33

Ans

[Fonly 29 of the total current passes through an ammeter having coil of resistance

‘B’ then the resistance of the shunt of an ammeter is
x .

49 R
R

50 R

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115965
37135163858
37135163859
37135163860
37135163857
Answered
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Q.34

Ans

A Diwali cracker releases 25 gram gas per second, with a speed of 400 ms ™1 after

explosion. The torce exerted by gas on the cracker is

x+ 100 dyne

x2 16 newton

v 10 newton

x« 10,000 dyne

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status :

Chosen Option :

MCQ
37135115977
37135163906
37135163908
37135163907
37135163905
Answered

3

collegedunia:

India’s largest Student Review Platform



Q.35 : : g ; P : :
Light travels from an optically denser medium ‘A’ into the optically rarer medium

‘B' with speeds 1-8 x 10 m/s and 2:7 x 10” m/s respectively. The critical angle

between them is (p and fi, are the refractive indices of media A and B

)

respectively.)

Ans

s sin~?!

w o

x> SIn~

)
')

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 410 :

Status :

Chosen Option :

MCQ
37135115992
37135163965
37135163968
37135163967
37135163966
Answered
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Q.36

Ans

A train blowing the whistle moves with a constant velocity V' away from an
observer standing on the plattorm. The ratio of the natural trequency of the
whistle ‘n’ to the apparent frequency is 1-2 ¢ 1 IF the train is at rest and the
observer moves away from it at the same velocity 'V, the ratio of 'n’ to the

apparent requencey is

Gl ¢ 5 R |
ws [25:1
X+ 2:05:1
e 1:§2cl

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115990
37135163957
37135163958
37135163960
37135163959
Answered
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Q.37

Ans

A torce of 10 N is required to break a wire of radius 1 mm. The foree required to

break the wire of same material, but radius 3 mm will be

K1

10
— N
$

Question Type :
Question ID :
Option 11D :
Option 210 :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115975
37135163897
37135163898
37135163900
37135163899
Answered
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Q.38

Ans

A body performs lincar simple harmonic motion of amplitude A’ At what
displacement from the mean position, the potential energy of the body is one

fourth of its total energy?

K1

MK a

A
3
A
2

A
=

W

& | >

Question Type :
37135115979
- 37135163914
37135163915
- 37135163913
37135163916
- Answered

Question 1D
Option 11D
Option 2 1D
Option 31D
Option 4 10

Status

Chosen Option :

MCQ
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Q.39

Ans

The sum of the magnitudes of two vectors A and B is 8 and magnitude ot the

resultant is 4. If the resultant vector is perpendicular to any one vector, then the

—_—

magnitudes of the two vectors A and B are

i 3:5

K 2.6
X 44
X 4. 1,7

Question Type :
: 37135115962
Option 11D -

Question ID

Option 21D
Option 31D :
Option 4 1D
Status :

Chosen Option :

MCQ

37135163845

- 37135163846

37135163847

: 37135163848

Answered
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Q.40

Ans

In potentiometer experiment, the balancing length with a cell Er of unknown et
is ‘€, cm. By shunting the cell with resistance R £, the balancing length becomes

f

1 i i : :
5 cm, the internal resistance () ot a cell is

X
-
|

X
=
|

0
-
2

X
-
|

&
-
1
PO N

Question Type :

Question ID :
Option 11D
Option 21D -
Option 3 1D :
Option 41D :

Status :

MCQ
37135115959
37135163836
37135163834
37135163835
37135163833
Answered

Chosen Option - 4
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Q.41

Ans

A disc of mass 10 kg and radius 0-1 mis rotating at 120 r.p.m. A retarding torque
brings it to rest in 10 s. If the same torque is due to force applied tangentially on

the rim of the disc then magnitude of foree is

v' (-2 TT N.
x> 04 TTN.
x: 08 TUN.

~% @1 TN

Question Type :
Question ID :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status :

MCQ
37135115953
37135163810
37135163811
37135163812
37135163809
Answered

Chosen Option : 4
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Q.42
In an oscillator, if *3" is the feedback factor and 'A’ is the gain of amplifier then

sustained oscillations are obtained when

Ans jal

x: AB<I.

¥* Apb= 1,
x« AB>1.

Question Type :
Question ID
Option 11D :
Option 2 1D
Option 31D :
Option 4 1D

Status :

Chosen Option :

MCQ

: 37135115991

37135163964

: 37135163962

37135163961

- 37135163963

Answered
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Q.43

Ans

A simple microscope is used to see the abject first in blue light and then in red
light. Due to the change from blue to red light, what is the effect on its magnifying

|‘.|u'l.-‘nfft.'l":r

MK .
Magnifying power increases.
o
Magnifying power decreases.

K 3

Magnifying power is independent of colour of light.
K 4

Magnifying power remains constant.

Question Type

- MCQ
Question ID :
Option 11D :
Option 21D :
Option 3 10 :
Option 41D :

Status :

Chosen Option :

37135115987
37135163946
37135163945
37135163948
37135163947
Answered
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Q.44 : ; j ; s
Assuming the atom in the ground state, the expression for the magnetic field at a

point (nucleus) in hydrogen atom due to circular motion of electron is
[lly = permeability of free space, €, = permittivity of free space, m = mass of

electron, € = electronic charge, h = Planck’s constant]

Ans

1ye/ Tm?
v 3 5
8€yh

N 2

1Ly TTm? e

3.3
8€0h

it tme*
31,3
8€ph

3

M, 3

!

LpTTm- e

p .
2.2
8€0h

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115980
37135163920
37135163917
37135163918
37135163919
Answered
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Q.45

Ans

A string of length ‘" fixed at one end carries a mass 'm' at the other end. The string
makes p revolutions / second around the vertical axis through the lixed end as

shown in figure. The tension "T" in the string is

X+ 18 m¥

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135115997
37135163988
37135163985
37135163986
37135163987
Answered

1
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Q.46

Ans

A rotating body has angular momentum ‘L’ I its frequency of rotation is halved

and rotational kinetic energy is doubled, its angular momentum becomes

xi 2L

x: =
4

4L

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135115993
37135163971
37135163969
37135163972
37135163970
Answered

1

collegedunia:
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Q.47

Ans

A bucket containing water is revolved in a vertical circle of radius 1" To prevent

the water from falling down, the minimum frequency of revolution required is

[z = acceleration due to gravity]

X 2

F

5

ZTEN

2TU

\

r

og |

oq | = |

Question Type :
Question 1D :
Option 11D :
Option 21D
Option 31D -
Option 41D

Status :

Chosen Option :

MCQ
37135115968
37135163872
37135163869
37135163870
37135163871
Answered

2
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Q.48

Ans

A metal rod of Young's modulus 'Y and coefficient of linear expansion ‘o¢’ has its
temperature raised by ‘A8, The lincar stress to prevent the expansion of rod is

(L and ¢ is original length of rod and expansion respectively)
Xy =

Y

S 2 —
AS

v YxAB

L

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D -
Option 41D

Status :

Chosen Option :

MCQ
37135115988
37135163950
37135163952
37135163949
37135163951
Answered

3

collegedunia:

India’s largest Student Review Platform



Q.49

Ans

A bar magnet having length 5 em and area of cross-section 4cm® has magnetic
moment 2Am<. If magnetic susceptibility is 5 x 107", the magnetic intensity will

he

A
x+ 0:2x 100 —

m

A
1 0-5x1010 =
xs 5x101Y

v.: 2x10%

m
A
m
A
m

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

MCQ
37135115998
37135163992
37135163989
37135163991
37135163990
Answered

3
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Q.50

Ans

. ! _ Q : ; .
One mole of a diatomic gas does a work i when the amount of heat supplied is

07 In this process, the molar heat capacity of the gas is
Ll

15R

Question Type :
: 37135115981
Option 11D :

Question 1D

Option 21D
Option 31D :
Option 4 1D
Status :

Chosen Option :

MCQ

37135163924

- 37135163923

37135163922

: 37135163921

Answered
3
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Q.1

Ans

What is the formula of calamine?

v ZnCO3

x: MgCO,,CaCO,
X s FEZ 03

x+ FeCOs;

Question Type :
Question ID :
Option 11D :
Option 2 1D -
Option 31D :
Option 41D

Status :

Chosen Option :

Q2 Which among the following reagents is used to obtain gluconic acid from

Ans

glucose?

< dil. Nitric acid
x2 Acetyl chloride
v Bromine water

x+ Acetic anhydride

Question Type :
Question ID :
Option 110 :
Option 21D :
Option 31D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116007
37135164028
37135164027
37135164025
37135164026
Answered

1

MCQ
37135116018
37135164069
37135164072
37135164070
37135164071
Answered

3
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Q.3 How many optical isomers are possible for a compound having 3 asymmetric

Ans

Q.4

Ans

carbon atoms?

x1. 9
vz 8
X3 3
X 6

Chlorine is manufacture by
x1 Ostwalds process

x> Contact process

x Haber process

v+ Deacon process

Question Type :
Question ID :
Option 11D :
Option 210 :
Option 31D -
Option 41D :

Status :

Chosen Option :

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 310 :
Option 41D -

Status :

Chosen Option :

MCQ
37135116048
37135164192
37135164191
37135164189
37135164190
Answered

2

MCQ
37135116023
37135164001
37135164089
37135164090
37135164092
Answered

4
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Q5 Hydroxide of which alkali metal is used in the manufacture of soft soap?

Ans

x1 Caesium
x2 Sodium
v Potassium

x+ Lithium

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D -
Option 41D -

Status :

Chosen Option :

Q.6 A gashas avolume of 3-4 L at 25°C. What is the final temperature if the volume
increases to 10-2 L at constant pressure,

x1 1894 K
x2 694 K
v 894 K
x+ 394 K

Ans

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116032
37135164128
37135164126
37135164125
37135164127
Answered

3

MCQ
37135116034
37135164134
37135164135
37135164133
37135164136
Answered

3
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Q.7

Ans

Q.8

Ans

Which of the following is used as promoter in Bosch’s process?
X (:(:):2

xz2 CO

X 3 :F:ffzz (:):3

v+ Cr,0,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3 10 :
Option 41D :

Status

Chosen Option :

Which of the following has highest boiling point?

x1 19 urea solution
x2 19% sucrose
xs 19% NaCl solution

v 19 CaCl> solution

Question Type :
Question 1D :
Option 11D -
Option 21D -
Option 31D :
Option 4 1D -

Status:

Chosen Option :

MCQ

37135116020
37135164080
37135164079
37135164077
37135164078

- Answered

4

MCQ
37135116049
37135164194
37135164193
37135164195
37135164196
Answered

4
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Q.9 For the combustion of 1 mole of liquid benzene at 298K, the heat of reaction at
constant pressure is -3268 k] mol ™!, what is heat of combustion at constant
volume? (R = 8:314 x 107% k] K™ 'mol~!

/' —3264-2 k] mol™?
x> —1632 k] mol™!
X: — 6728 k] mol~1
x+—672-8k] mol™!
Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D -
Status :
Chosen Option :
Q

10 " ; ; ; » :
Which free radical is most stable among following?

S X R'CHZ

Zs B -

An

X 3 éHg

x« R, -CH

Question Type :
Question 1D :
Option 11D -
Option 210 :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116016
37135164061
37135164062
37135164063
37135164064
Answered

1

MCQ
37135116022
37135164087
37135164085
37135164088
37135164086
Answered

2
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o [dentity product B in following reaction.

conc.HNO; H*

Acetanilide A B
conc.H,S0O, or OH™

Ans

v+ P - nitroaniline
x> O - nitroacetanilide
x s Aniline

X+« Nitrobenzene

Question Type :
Question 1D
Option 110
Option 21D
Option 3 10
Option 41D :

Status :

Chosen Option :

Q.12 Conductivity cell is filled with 0-01 M KCI gives a resistance of 484Q and
conductivity of 0-00141 Q7! em ™" at 25°C. What is cell constant?
Ans

v 0682 cm™!
x> 0341 cm™?
x5 0-751 cm™1
x: 0-510 cm™1

Question Type
Question ID
Option 110
Option 2 1D
Option 3 1D
Option 41D -

Status :

Chosen Option :

MCQ

- 37135116021
137135164083
1 37135164082
137135164081

37135164084
Answered

1

- MCQ

137135116009
- 37135164035
137135164033
- 37135164036

37135164034
Answered
1

W collegedunia:

el

India’s largest Student Review Platform



Q.13

Ans

o :

Which statement about aspirin is NOT ture

x [tis effective in relieving pain

Aspirin belongs to narcotic analgesics

xs [t reduces body temperature

p

[t has antiblood clotting action

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D -
Option 4 1D -

Status :

Chosen Option :

“™ What is the oxidation state of As in H;AsO, ?

Ans

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D -
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116010
37135164038
37135164037
37135164040
37135164039
Answered

2

MCQ
37135116002
37135164007
37135164008
37135164006
37135164005
Answered

2
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Q15 Which among the following monomers is used to prepare Teflon?

Ans .
x. CH, = CH
CHa
v . CFZ — CF2
%4 CHys = CH — €l
x+ CH, — CH = CH,
Question Type :
Question ID :
Option 110 :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Q18 How much charge in coulombs is required for the reduction of one mole of
Al** to Al ?
Ans

x1 1:930 x 10*C
v 2:895 x 10°C
x2 2:895 x 10*C
x+1-930 x 10°C

Question Type :
Question ID :
Option 11D
Option 21D -
Option 31D :
Option 41D :

Status

Chosen Option :

MCQ
37135116006
37135164024
37135164021
37135164022
37135164023
Answered

2

MCQ

37135116039
37135164154
37135164155
37135164156
37135164153

- Answered
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Q.17

Ans

Concentrated H,S0O, reacts with PCls to produce

x1+ HCIO>
v S0O2CI2
xs SOCI2

X+ HClO4

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D -
Option 4 1D -

Status :

Chosen Option :

Q18 Eu the first order reaction A — B, The rate constant is 0:25 S71 if the

Ans

concentration ot A is reduced to halt, the value of rate constant will be

x1 2:25s71
x> 0-075s71
xs 0-30s~1
v+ (025571

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D -
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116041
37135164164
37135164162
37135164161
37135164163
Answered

2

MCQ
37135116035
37135164138
37135164137
37135164140
37135164139
Answered

4
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1% Which of the following compounds has highest boiling point?

Ans

. CH4(CH,),CH,OH
x> C,H<CH(CH>),

x- CH4(CH,),CH,NH,
x+ (C;Hg),NH

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Q.20 The product obtained when 2-methylpropan-2-ol is treated with alumina at

Ans

423 Kis

x Propanone
x2 Propene
x= Propanoic acid

»+ Isobutylene

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116028
37135164109
37135164112
37135164110
37135164111
Answered

1

MCQ
37135116036
37135164144
37135164142
37135164143
37135164141
Answered

4
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Q21 Which among the following lanthanoids has smallest atomic size ?

Ans ‘x ¢ Pl"
xz2 Ce

v: Sm
X a Pn]

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 410 :

Status :

Chosen Option :

Q22 Which among the following is a use of 2, 4-dichlorophenoxy acetic acid?

Ans

x Antiseptic
x2 Selective drug
v Selective weed Kkiller

x+ explosive

Question Type :
Question 1D :
Option 11D -
Option 21D -
Option 31D :
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116047
37135164187
37135164185
37135164188
37135164186
Answered

4

MCQ
37135116025
37135164097
37135164098
37135164099
37135164100
Answered

3
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Q.23

Ans

Mole fraction of solute in it's 2 molal aqueous solution is

x1 28775
v 0-034
x2 0-054
x+0-018

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

Q.24 Nickel crystallises in a fcc type of unit cell, with edge length 0- 3524 nm.

Ans

Calculate the radius of nickel atom.

X1 0-1624 nm
X2 (02164 nm
x3 0:1426 nm

v 01246 nm

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

MCQ
37135116043
37135164172
37135164170
37135164171
37135164169
Answered

3

MCQ
37135116004
37135164014
37135164013
37135164015
37135164016
Answered

4
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Q.25 Which among the following complexes is a homoleptic and cationic in nature?

Ans

Q.26

Ans

x+ |CoCl, (en),|Cl
v: [Fe(H;0)¢]|Cl;

x« [Fe(CO)s]

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D -

Status :

Chosen Option :

Which from following compounds does NOT contain phantom atom?

x 1 Acetaldehyde
x> Methyl cyanide
+- n-propyl alcohol

X+ Propionic acid

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D :
Option 41D

- Answered

Status

Chosen Option :

MCQ
37135116008
37135164031
37135164030
37135164029
37135164032
Answered

1

MCQ

37135116029
37135164116
37135164113
37135164115
37135164114

4
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“* The H-N-H bond angle in NHz molecule is

Ans

x.101°
x2 90°
xs 109° 28’
v+ 107° 18’

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D :
Option 41D

Status :

Chosen Option :

Q28 1n which of the following molecules, 2 bonds are present?

Ans

X (::2 I_I{3
X 2 (::2 I-Ig}

v (::2 I_I;Z
X 4 (::3 l-ltﬁ

Question Type :
Question 1D :
Option 11D -
Option 21D -
Option 31D :
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116027
37135164106
37135164105
37135164108
37135164107
Answered

4

MCQ
37135116015
37135164058
37135164057
37135164059
37135164060
Answered

3
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29 —— . —— _ |
Q Which following pair of elements does NOT represent chemical twins?

Ans

Q.30

Ans

x+ Nb-Ta
v: Zr - Rt
x:= Mo -W
x+ Tc-Re

Question Type :
Question 1D :
Option 11D :

Option 2 1D

Option 4 1D

What is molecular formula of glyceraldehyde?

x1 C305Hg
x2C,s05H,
v- C305Hg
x« C,0O,H,

Question Type :

Question 1D :
: 37135164003
- 37135164004
- 37135164002
- 37135164001
- Answered

Option 110
Option 21D
Option 3 10
Option 4 1D

Status

Chosen Option :

MCQ
37135116003
37135164011

: 37135164010
Option 310 :

37135164009

- 37135164012
Status :
Chosen Option :

Answered
2

MCQ
37135116001

3
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Q.31

Ans

Q.32

Ans

Which among the following is used as a fumigant pesticide for strawberries?

x+ CCL, F,
v2 CH,Cl,
xz CClL F
x+ CCl,

Sulphapyridine is a/an
» antibiotic

x» tranquilizer

x s antihistamine

x + analgesics

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D -

Status :

Chosen Option :

Question Type :
Question ID :
Option 11D :
Option 210 :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116042
37135164167
37135164165
37135164168
37135164166
Answered

1

MCQ
37135116038
37135164149
37135164150
37135164152
37135164151
Answered

3
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Q.33

Electrophoresis is used

Ans O 1.

to count number of particles in colloidal dispersions

x 2 for stability of colloids

o

to determine charge on colloidal particles

r

to determine size of colloidal particles

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D -
Option 41D

Status :

Chosen Option :

Q.34 1 anisothermal and reversible process, 1:6 x 1072 kg 0, expands from 10 dm?

to 100 dm? at 300K, work done in the process is (R=8:314])

x' -1436]
X2 -5744 ]
x -4308 ]

Ans

22872 |

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D -
Option 41D -

Status :

Chosen Option :

MCQ
37135116012
37135164046
37135164045
37135164048
37135164047
Answered

3

MCQ
37135116014
37135164053
37135164055
37135164056
37135164054
Answered

4
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Q.35 The half life of a first order reaction is 6:0 hour. How long will it take for the

concentration of reactant to decrease from 0-4 M to 0-12 M?

Ans

x1 30-36 h
v: 10-42 h
xs 4:25 h

x+ 9.51h

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

@36 |dentify the formula of potassium trioxalato aluminate (I1I)

Ans

<+ K4 [AI(C,0,4)5]
s [K3A1(C204)3]
x= Alz [K3(C,04)5]
< K3 [AI(C,04)5]

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D -
Option 4 1D -

Status :

Chosen Option :

MCQ
37135116044
37135164173
37135164175
37135164174
37135164176
Answered

4

MCQ
37135116024
37135164094
37135164096
37135164095
37135164093
Answered

4
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Q.37

Ans

Q.38

Ans

[dentity the mineral of aluminium from following
v Diaspore

x2 Limonite

xs: Azurite

x+ Chalcopyrite

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status

Identify the compound A and B in following reaction.

KCN(alc) . 2H,0

HCI

CH,Cl A B + NH,Cl

o 1.
A = methylisocyanide, B = Methanoic acid
N 2
A = Ethanenitrile, B = Methanoic acid

A = Ethanenitrile, B = Ethanoic acid
X 4

A = methyl cyanide, B = methanoic acid

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 31D -
Option 41D -
Status .
sen Dption :

Cho

- Answered
Chosen Option :

MCQ

37135116045
37135164180
37135164177
37135164179
37135164178

1

MCQ
37135116037
37135164146
37135164147
37135164148
37135164145
Answered

3
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Q39 Which of the following phenols is isolated from defensive secretion of
grasshopper species?
Ans

x1 4 - Methylphenol

x> Benzene-1, 3- diol

v 2,5 -dichlorophenol

x+ Phenol

Question Type : MCQ
Question ID : 37135116030
Option 11D : 37135164119
Option 21D : 37135164118
Option 310 - 37135164117
Option 41D : 37135164120
Status : Answered
Chosen Option : 2

4 S : G
240 1n aqueous phase the order of basic strength of alkylamine is

Ans O 1.
CH;NH, > (CH3), NH > (CH3)z N > NH;

K 2
(CH3), NH > (CH3)5 N > CH;NH, > NH.

o
(CH3); N > (CH;), NH > CH;NH, > NH;

o -

(CH.), NH > CH,;NH, > (CH5)sN > NH.

Question Type : MCQ
Question ID : 37135116033
Option 11D : 37135164132
Option 2 1D : 37135164130
Option 31D : 37135164129
Option 4 1D : 37135164131

Status : Answered

Chosen Option : 1

L]
collegiedunlaa
° =] India’s largest Student Review Platform

el



Q.41 What is the number of moles and total number of atoms respectively present in

5.6 cm” of ammonia gas at STP?

v $E
2:50 x 107* mol and 1-5 x 10%° atoms
X 2
1-505 mol and 6:022 x 104" atoms
x 3
2:05 mol and 1-50 x 104" atoms

2:50 X 10™* mol and 6-:022 x 104" atoms

Question Type :
Question 1D :
Option 11D :
Option 21D -
Option 31D -
Option 41D -

Status :

Chosen Option :

Q.42 An element crystallises bee type of unit cell, the density and edge length of unit

cell is 4 g cm™ and 500 pm respectively. What is the atomic mass of an element?

x1.125-5
100-1
x: 2500
v+ 150:0

Ans

N 2

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status:

Chosen Option :

MCQ
37135116017
37135164068
37135164065
37135164066
37135164067
Answered

4

MCQ
37135116011
37135164042
37135164041
37135164044
37135164043
Answered

3
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Q.43

Ans

Identify product ‘A’ in the following reaction

i) DIBAl-H
ii) H;0+

x R—CONH,
x2 R—COOH
v: R—CHO
x+ R—CH,NH,

R-C A

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 410 :

Status :
Chosen Option :

Q.44 0.5 molal aqueous solution of a weak acid (HX) is 20%. ionised. It K; of water is

Ans

1-86 K kg mol™!, the lowering in freezing point of solution is

nv — =56 K
x:—1+12 K
v>1:12K
x+0-56K

Qu

estion Type :
Question 1D :
Option 11D :
Option 210 :
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
37135116050
37135164200
37135164198
37135164199
37135164197
Answered

3

MCQ
37135116026
37135164101
37135164102
37135164104
37135164103
Answered

2
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Q.45 Which polymer is obtained from monomers 3-Hydroxy butanoic acid and 3-
Hydroxypentanoic acid?

v PHBV

Ans

x> Dextron
xs Nylon-2-nylon-6
x+ HDPE

Question Type : MCQ
Question ID : 37135116013
Option 110 : 37135164051
Option 2 1D : 37135164049
Option 3 10 : 37135164050
Option 4 1D : 37135164052

Status - Answered

Chosen Option : 1

@4 For following reaction, relation between AH and AU is
2503(g)* Oz(g) = 2505

¥u AH = AU —=2RT
v: AH = AU —RT
xs AH = AU +2RT
x« AH = AU +RT

Ans

|

Question Type : MCQ
Question 1D : 37135116019
Option 110 : 37135164075
Option 2 1D : 37135164076
Option 3 1D - 37135164074
Option 4 1D : 37135164073

Status - Answered

Chosen Option : 2
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Q.47 Which among the following group -15 elements forms hydrogen bonding in it’s

hydride compounds?

x1. Sb

Ans

Question Type :
Question ID :
Option 11D
Option 21D -
Option 3 1D :
Option 41D :

Status :

Chosen Option :

Q.48 Ay clement crystallises in bee type having atomic radius 1-33 x 107% ¢m, the

edge length ot unit cell will be

x12:17 x107% cm

x> 266 x 1078 cm

x24-08 X 1078 cm
v+ 307 X108 cm

Question Type

MCQ
37135116040
37135164160
37135164158
37135164159
37135164157
Answered

4

:MCQ
Question 1D :
Option 110 :
Option 210 :
Option 31D :
Option 41D :

Status :

Chosen Option :

37135116031
37135164121
37135164123
37135164124
37135164122
Answered

2
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Q.49 Which among the following compounds is treated with benzonitrile of obtain
benzophenon in dry ether and then acid hydrolysis?

™ x. CH,COCH,
v CcH:MgBr
xs C,H:ONa
x+ CH;MgBr

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

** Identify the product C in following reaction.

NaOH NaOH HNO,
CH3CH,CO0H — A 5 B—x—C
Ans

x+ CH3;CH,CH;
x. CH, = CH,
v+ CH3;CH,NO,
x+ CH;CH,CH,OH

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D -

Status:

Chosen Option :

MCQ
37135116005
37135164019
37135164018
37135164020
37135164017
Answered

2

MCQ
37135116046
37135164182
37135164181
37135164183
37135164184
Answered

3

W collegedunia:

el

India’s largest Student Review Platform



Q.1

Ans

The cartesian co-ordinates of the point whose polar co-ordinates are G , 12D°) are

V3
4

1

’

DN

i

V3
4
—1 —/3
4’ 4

—~1 3
4’ 4

|
"]
|
|

Question Type :
Question 1D :
Option 11D
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116056
37135164223
37135164224
37135164222
37135164221
Answered

4
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Q.2

population to become double is (Given log2=0-6912)

Ans

x113:624 years

v 13:8240 years

x 313725 years

x+13-8275 years

If the population grows at the rate of 5% per year, then the time taken for the

Question Type :
Question ID :
Option 110 :
Option 210 :
Option 31D :
Option 41D :

Status

Chosen Option :

MCQ

37135116074
37135164293
37135164295
37135164294
37135164296

- Answered

4
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Q.3

The particular solution of the differential equation xdy + 2ydx =0, when x =2

and. y=1 15

Ans

Xixys =14

.r-xzy 4

|
|
I

?<3-x2y

XXyt =—4

Question Type

Option 11D

Option 31D

- MCQ
Question 1D :
- 37135164209
Option 21D -
- 37135164212
Option 41D :
Status :
Chosen Option :

37135116053

37135164211

37135164210

Answered
2
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Q.4

Ans

If tanf = 2 and & lies in the third quadrant, then the value of secf is

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135116098
37135164390
37135164391
37135164392
37135164389
Answered

1
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Q.5

The foot of the perpendicular drawn from the origin to the plane x + y 4+ 32—-4=10
15

Ans

1.

Z 2 9)
11 "11 "11

(

v (141 ,141 %)
(
(

X3

N[O

g

N [
N =

X 4

U]
1] =
| W
N —

Question Type : MCQ
Question 1D : 37135116092
Option 11D : 37135164367
Option 21D : 37135164368
Option 31D : 37135164366
Option 4 1D : 37135164365
Status : Answered
Chosen Option : 2
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4 If the probability density function of a continuous

3
fle) =5 IF =1gne2
=) , otherwise,
then the cumulative distribution function of X is

Ans

xi— [x* —1]
x:— [x* —1]
x:— [x* = 1]

so= [x* = 1]

random wvariable is

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D :
Option 4 1D :

- Answered

Status

Chosen Option :

MCQ

37135116084
37135164335
37135164333
37135164336
37135164334

4
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Q.7

Ans

If »=tan™

sin 2x

14+cos2x

. then

X

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :
Option 41D -

- Answered

Status

Chosen Option :

MCQ

37135116051
37135164202
37135164201
37135164203
37135164204

1

collegedunia:
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Q.8

If A=|0 —2 0|, then A*A™' =

Ans

Question Type : MCQ
Question 1D : 37135116052
Option 11D : 37135164206
Option 2 1D : 37135164208
Option 31D : 37135164205
Option 4 1D : 37135164207

Status : Answered

Chosen Option - 1
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Q.9

Ans

x=1 ¥+l 3-z

If the lines

3 A

to each other, then A=

X1 2

X2 3

and

x+1 _ 1-3y

4

15

= Z + 1 are perpendicular

Question Type :
Question ID :
Option 110 :
Option 21D :
Option 3 1D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135116081
37135164321
37135164322
37135164324
37135164323
Answered

3
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Q.1

Ans

x1,9=(2n+1)§ nez

W

" The general solution of tanf + tan26 = tan36 is

0 =nn, ne’z orf:’iz?pgiT D EZ

nrm

)(3.92? ne/Zz

)(4_9

(2n—1)§ neEZ

Question Type :
Question ID :
Option 110 :
Option 21D :
Option 3 1D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116064
37135164255
37135164254
37135164253
37135164256
Answered

3
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Q.11

Ans

s

4

f Sinx + cosx
O+ 16sin2x

0

1
> 5 T
30
1
T
1
“" 10
1
HE—

dx = klog3,then k =

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

MCQ
37135116057
37135164226
37135164227
37135164225
37135164228
Answered

2
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Q.12

The symbolic form of the following circuit is

/
5. 53 { :
. /
. { ¥
O i .
(where p, q and r represents switches s, ,s, and s; which are closed respectively)
K 1
(pvq) A[~pV(~qApAT)|=?
X 2
[(pva) A ~p] V[~pVvqVr)|=7
7 :
(PAQ) V [~pA(~qVpVr)|=4
X 4.

(pAqQ) V ~pV|[~pVDpVrI|=?

Question Type :
37135116097
Option 110 :

Question 1D

Option 2 1D
Option 31D
Option 4 10

MCQ

37135164388

137135164387
- 37135164385
137135164386

Status :
Chosen Option :

Answered
3
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Q.13

Ans

The equations of the lines which make intercepts on the axes whose sumis 8 and

productis 15 are

BB
3x — 5y + 15

X 2
5x — 3y + 15
3%+ oy — 15

X 4
3x+ By + 15

I

T

-

5x +3y+15=0

3x +5y+15=0

3y +5x—15=0

ax+3y—15=40

Question Type : MCQ
Question 1D : 37135116072
Option 11D : 37135164286
Option 21D : 37135164287
Option 31D : 37135164288
Option 4 1D : 37135164285
Status : Answered
Chosen Option - 3
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Q

Ans

then the mass remaining after 50 days is

X

X

o

X

225

125

g Y

125
2 mg

225

z Y

14 A metal has half life period of 10 days. A sample originally has a mass of 1000 mg,

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 3 1D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116078
37135164310
37135164309
37135164311
37135164312
Answered

3
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Q.15

Ans

Q.16

Ans

If A= {x/xisaprimenumber,0 < x =< 9}, then the number of elements of power

set of A is

x112

X2 4

v 16

Question Type :
Question ID :
Option 110 :
Option 210 :
Option 3 1D :
Option 41D :

Status

Chosen Option :

If the equation ax® + by? + cx + ¢y = 0,¢ # 0 represents a pair of lines, then

x.at+c=0
vea+b=0
xsa—c=20

2(4.a—b=0

Question Type :
Question 1D :
Option 11D :
Option 21D
Option 31D -
Option 41D

Status :

Chosen Option :

MCQ

37135116077
37135164307
37135164305
37135164308
37135164306

- Answered

3

MCQ
37135116085
37135164339
37135164337
37135164340
37135164338
Answered
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Q.17

Ans

If the p. m. f. of a random variable X is

X

P(X=x)

W & |9

| FJOl W

N & |

N X |G

then k =

15

T
31
1
Nz —
12
11
X3 —
12
12

31

Question Type :
Question 1D :
Option 11D :
Option 210 :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116086
37135164344
37135164341
37135164343
37135164342
Answered

4
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Q.18

Ans

If p and g% are mean and variance of a random variable X whose p. m. f. is given

by B (e x)o= (i)(l)x (E)ﬁ_x , x=101,2,3.....6,thenthevalue of 2u + 120 =

x4

X2 8
v:20

2(4.16

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 41D

Status :

Chosen Option :

MCQ
37135116080
37135164317
37135164318
37135164320
37135164319
Answered

2
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Q.19

The solution of rdx + (x —r?)dr =0 is

Ans

T3

x1.r2x=?+c

Question Type : MCQ
Question 1D : 37135116090
Option 11D : 37135164359
Option 21D : 37135164357
Option 31D : 37135164360
Option 4 10 : 37135164358
Status : Answered
Chosen Option - 4
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Q.20

The adjoint of the matrix A = [ g _53 ] is

Ans

5 3
—3 2

"l 5 3
“olo3 2

1 B

Question Type : MCQ
Question ID : 37135116095
Option 11D : 37135164380
Option 21D : 37135164378
Option 3 1D : 37135164377
Option 41D : 37135164379
Status : Answered
Chosen Option : 1
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Ans

dx__

x__
~ 4
x+1
X ) X’
2x lo
Y x+ 1
2
N 3
x+1
x—1
K 4

If 9= (x—z)x and & y[g(x) + log (;—;)] then g(x) =

Question Type :
Question ID :
Option 110 :
Option 21D :
Option 3 1D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116096
37135164383
37135164382
37135164381
37135164384
Answered

3
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Q.22

Ans

T
2
j 1 — cotx
cosecx + cosx
0

Question Type :
Question 1D :
Option 11D -
Option 210 :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

MCQ
37135116063
37135164252
37135164250
37135164251
37135164249
Marked For Review
4
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Q.23
If the equation ax? 4+ hxy + by? = 0 represents a pair of coincident lines, then

x1h® = 2ab

Ans

v: h? = 4ab

X

-
N

|

8ab

X
b

N
|

ab

Question Type

Question 1D ;
Option 11D :
Option 210 :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

- MCQ

37135116079
37135164314
37135164315
37135164316
37135164313
Answered

2
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Q.24

Ans

For fAE€ (0, g) ,tan 36 - tan 28 - tan 8 + tan26 + tanf = 1, then =

Question Type :
Question 1D :
Option 11D :
Option 21D
Option 31D :
Option 41D

Status :

Chosen Option :

MCQ
37135116082
37135164328
37135164327
37135164325
37135164326
Answered

1
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Q.25

value of x for which f(x) = fog)(x) is

Ans

If f:R—R.g:R—Rdefinedby f(x)=x*-3x+4 and g(x) = 2x + 1, then the

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D :
Option 41D

Status :

Chosen Option :

MCQ
37135116087
37135164347
37135164346
37135164345
37135164348
Answered

4
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Q.26

Ans

For the following shaded region the linear constraints are

N~ 1

ox+ 9y < 90

ax + 9y 2= 90
X3
5x +9y =90

4

5x + 9y <90

Sx+0y=910

y=8, x,y=0

8, x,y=0

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 310 :
Option 4 1D :

Status

Chosen Option :

: Answered

MCQ

37135116073
3713516429
37135164289
37135164292
37135164290

4
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sl With usual notations, if in AABC, s is semi perimeter and (s—a) (s—b)=s (s—c),

then AABC is

Ans

x . an equilateral triangle

x» an obtuse angle triangle

“aright angled triangle

4

x . an acute angle triangle

Question Type : MCQ
Question 1D : 37135116061
Option 110 : 37135164242
Option 2 1D : 37135164244
Option 31D : 37135164241
Option 4 1D : 37135164243

Status : Answered

Chosen Option - 3
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Q.28

Ans

fx3.ex2 dx =

y BN

NIRkr  N|R N

N | =

exz(xz + 1)+
exz(xz - 1)+ ¢
ex(xz — 1)+

eX(x*+1)+c

Question Type :
Question 1D :
Option 11D :
Option 210 :
Option 31D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116066
37135164261
37135164262
37135164264
37135164263
Answered

2
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Q.29

Ans

3

I

7 :
4
P S T—
2
[
X 4

n
2
f secx
3 3
J Vsecx + Vcosecx

Question Type : MCQ
Question ID : 37135116060
Option 11D : 37135164239
Option 21D : 37135164238
Option 31D : 37135164240
Option 4 1D : 37135164237

Status : Answered

Chosen Option - 2
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If cosx +cosy = —c¢os o , sinx + siny = —sin o , then mf(

x+)_
- =

Question Type :
Question 1D :
Option 11D :
Option 2 1D -
Option 31D :
Option 41D

Status :

Chosen Option :

The statement pattern ~(pvq) V (~pAq) isequivalentto

Q.30
Ans
X1 —COtX
v2 COtX
Xs—tanx
X+ tanx
Q.31
Ans

ir~p
Kz.p

x3~(

x+(q

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 310 :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135116058
37135164231
37135164232
37135164230
37135164229
Answered

2

MCQ
37135116100
37135164398
37135164399
37135164397
37135164400
Answered
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Q.32

Ans

The direction co-sines of a line which makes equal acute angles with the co-ordinate

dxes are

-1 1 1

A ) o~y !
3 "33

-1 —1 -1
3 V3 V3
1 1 1
V3 V3 V3
1 —1 1
3'V3 V3

N 2

o

K 4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116089
37135164354
37135164356
37135164353
37135164355
Answered

3
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Q.33 1t A and B are independent events such that odds in favour of A is2:3 and odds

Ans

against B is 4:5,then P (ANB) =

K 1

U1l & O =

B L0 O N

Question Type :
Question ID :
Option 110 :
Option 21D :
Option 3 1D :
Option 410 :

Status :

Chosen Option :

MCQ
37135116069
37135164276
37135164275
37135164273
37135164274
Answered

3
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Ans

X1 —
3
2
—2

p ]
3
3
b O —
2

Question Type :
37135116062
: 37135164245
- 37135164246

Question 1D
Option 11D
Option 2 1D
Option 31D :
Option 4 1D
Status :

Chosen Option :

MCQ

37135164247

137135164248

Answered
2

collegedunia:

India’s largest Student Review Platform



Q.35

The approximate value of cot™(1:001) is

Ans

 _0-0005
T

T

X2 — 40005
i

T
%+ —+0-0005

Xi——0-005
4

Qu

Chosen Option : 4

estion Type

Option 11D
Option 21D -
Option 3 1D
Option 41D

Status :

:MCQ
Question ID :
- 37135164351

: 37135164349

37135116088

37135164350

37135164352
Answered
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.36
: If the line 6x — y — 4 = 0 touches the curve y

Ans

a+bh=

X 8

X2—4

Vs 4

‘= ax?t+ h atthe point (1, 2) then

Question Type :
37135116076
: 37135164303
137135164302
1 37135164301
137135164304

Question 1D
Option 11D
Option 21D
Option 31D
Option 4 1D
Status :

Chosen Option :

MCQ

Answered
1
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Q.37

tan"! x + tan"!y = ¢ is the general solution of the differential equation

dy  (1+y°

" dx 1+ x?
dy 1+ y?
X 2 =
dx 1+ x?
dy 1+ x?
X3 =
dx 1+ y?
dy 1+ x?
< 4
dx 1+ y?

Question Type :
Question 1D :
Option 110 :
Option 210 :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135116055
37135164218
37135164220
37135164217
37135164219
Answered

1
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Q.38 S .
If a=2i+3j—k, b=—-1+2j—4k and

Ans

vi—74

x> 64

X 3 _64

C

]

+

j

+k, then (@xh) - (@x7) =

Question Type :
37135116059
137135164234
37135164235
137135164236
37135164233

Question 1D
Option 11D
Option 21D
Option 31D
Option 4 1D
Status :

Chosen Option :

MCQ

Answered
1
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e If the vectors i+2j+xk and yi+ 6]+ 4k are collinear , then the values of x and

¥ are respectively,

Ans

Question Type
Question 1D :
Option 11D :
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

:MCQ

37135116067
37135164265
37135164267
37135164266
37135164268
Answered

1

collegedunia:

India’s largest Student Review Platform



Q.40

Ans

The focal distance of the point (4, 4) on the parabola with vertex at ({0, 0) and

symmetric about y-axis is

X1 4
v 5

X+5v2
X+ 4+/2

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCQ
37135116054
37135164213
37135164215
37135164216
37135164214
Answered

1
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41
? The equation of the plane passing through the points (2,3, 1), (4, —5, 3) and parallel

to y-axis is

Ans

|
w

XuX+Z

I
p—

)(Q_JC‘l‘Z

|
—_

o X — 7

)(4_Z_x+2=0

Qu

estion Type :
Question ID :
Option 11D
Option 21D -
Option 31D :
Option 41D :

Status :
Chosen Option :

MCQ
37135116083
37135164331
37135164330
37135164332
37135164329
Answered

1
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Q.42

Ans

The maximum value of the function

x1.6’2

o
1
N ¥ o—
el
Xa €

logx
: , x =0 1Is
X

Question Type :
Question 1D :
Option 11D :
Option 21D
Option 31D :
Option 41D

- Answered

Status

Chosen Option :

MCQ

37135116075
37135164299
37135164298
37135164300
37135164297

2
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43
** |f for the harmonic progression, t; = 1—10 y ba = 2—15 ,then t,, =

Ans

1

K1 —_—
48

x 249

49

x+ 48

Question Type : MCQ
Question 1D : 37135116065
Option 11D : 37135164258
Option 210 : 37135164259
Option 31D : 37135164260
Option 4 1D : 37135164257

Status : Answered

Chosen Option - 3
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44 ; : : ;
@ The equation of the circle whose end points of a diameter are the centres of the

circlesx? +y* +2x—4y+1=0 and x*+y*—-8x+6y+17=0 is

0

Ans

x1.x2+y2—3x—y—10

|
=

x2x®+y°+3x—y—10

|
o

xsx°+y2+3x+y—10

|
-

s X*+y*=3x+y—10

Question Type :
Question 1D :
Option 110 :
Option 21D :
Option 31D :
Option 41D -

Status:

Chosen Option :

MCQ
37135116093
37135164371
37135164370
37135164372
37135164369
Answered

4
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45 :
? The area of the region bounded by the curve y = 4x — x* and the x-axis is

Ans

16 |
! 3 Sq. units

B2 "
3 S9.units

x 2 32 Sq.units

x+ 16 sqg.units

Question Type :
Question 1D :
Option 11D -
Option 21D :
Option 31D :
Option 4 1D -

Status
Chosen Option

MCQ

37135116094
37135164374
37135164373
37135164375
37135164376

- Answered
12
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Q.46

Ans

f (1+ logx) }dx

cos?(xlogx)

x1 sin (xlogx) + c

x2 sin® (xlogx) + ¢

x:log (xlogx) + c

v tan (xlogx) + c

Question Type
Question 1D
Option 11D
Option 2 1D
Option 31D
Option 4 10

- MCQ
37135116071
- 37135164284
- 37135164281
- 37135164282
37135164283
Status :
Chosen Option :

Answered
4
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Q.47 1

I f(x)

ltan G — x)]x ifx 0

K Hx =0,

is continuous atx = 0 then A=

Ans

Question Type : MCQ
Question 1D : 37135116099
Option 11D : 37135164393
Option 210 : 37135164394
Option 31D : 37135164395
Option 41D : 37135164396
Status : Answered
Chosen Option - 3
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.48
R The equation of a line passing through the point (2, 4, 6) and parallel to the line

Ix+4=4y—-1=1—-4z is

Ans

x—2 y—4 z-—-6

X
I
I

Question Type : MCQ
Question ID : 37135116070
Option 11D : 37135164279
Option 2 1D : 37135164280
Option 3 1D : 37135164277
Option 41D : 37135164278
Status : Answered
Chosen Option : 2
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Q.49

Ans

1—x du

, cosv = 4x> —3x , then —

If tanu = Tq:; A

1

o

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 410 :

Status
Chosen Option

MCQ

37135116091
37135164362
37135164364
37135164363
37135164361

: Answered
1
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Q

Ans

: j dx _
Jex=1) (x-2)

X 1.
log|(x—§)—\/x2—3x+2‘+c

o

logl(x—z-)+\/x2—3x+2|+c

o
log‘(x— 1) + V2 —3x+2| +c

K 4

log|(x+%)+\/x2—3x+2l+c

Question Type :
Question ID :
Option 11D -
Option 21D -
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
37135116068
37135164271
37135164272
37135164270
37135164269
Answered

2
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